


ABBSOFT COMPUTERS


Mall Management & Risk Management
(1-Mark)

Q1. India is the _________ largest economy in World with year 2000 GDP at USD 1797bn(PPP wise).

a. Second

b. Fourth

c. First

d. Seventh

Ans: B

Q2. India’s GDP CAGR will be ________, one of the highest in world.

a. 8%

b. 9%

c. 8.7%

d. 9.6%

Ans: D

Q3. _______ Will above 20% organized retailing market share does not have much higher retail sales then India.

a. China

b. US

c. UK

d. Japan

Ans: A

Q4. ________ enhanced availability of superior quality goods at affordable prices.

a. Before Liberalization

b. Post Liberalization

c. Liberalization

d. None of the above

Ans: B

Q5. Supply dynamics:

a. Limited funding options

b. Lack of quality retail properties

c. Complex taxation system

d. All of the above

Ans: D

Q6. Highest Penetration in the current changing market-

a. Watches (40%)

b. Footwear (25%)

c. Clothing (13.8%)

d. All of the above

Ans: D

Q7. Promising category is ______ for rural retailing of population in rural.

a. 68%

b. 72%

c. 54%

d. 82%

Ans: A

Q8. India has only one retail outlet for _______ people.

a. 1,800

b. 280

c. 680

d. 780

Ans: B

Q9. It deals with the entire supply-demand pattern of an item through all levels of the hierarchy.

a. Supply Chain Management

b. Mall Management System

c. Mall management

d. IT Systems in Malls

Ans: B

 2C10. ______ point equals the expected demand during the expected lead time.

a. Reorder

b. Central

c. Demand

d. Supply

Ans: A

Q11. If the available quantity is below the Safety Stock Quantity, the Mall Management will create a ________ order proposal.

a. Forward Schedule

b. Backward Schedule

c. Reorder

d. Safety Lead

Ans: B

Q12. If the __________ is not filled in, only the gross requirements for the same date will be added.

a. Reorder Quantity

b. Reorder Cycle

c. Safety stock

d. None of the above

Ans: B

Q13. The __________ represents our expectations of the general need for the item during the lead-time.

a. Reorder Point

b. Safety stock quantity

c. Reordering policy

d. Reordering cycle

Ans: A

Q14. Lead-time is:

a. A span of time required performing a process or series of operations.

b. The time between the recognition of the need for an order and the receipt of goods.

c. Both a and b

d. None of the above

Ans: C

Q15. A feature that indicates to what degree the Mall Management system is allowed to reschedule or change the quantity of an order.

a. Mall Management Flexibility

b. Mall Management System

c. Mall Management Worksheet

d. Regenerative Mall Management

Ans: A

Q16. India is an extremely ___________ market.

a. Complex

b. Peculiar

c. Cost sensitive

d. All of the above

Ans: C

Q17. Supply Chain Management along with ________ is among the critical ingredients of a Mall success story.

a. SAP

b. ERP

c. Oracle

d. CRM

Ans: B

Q18. Indian organized retail segment is seeing companies like __________ gearing up to fend off the challenges of foreign players who are poised to enter the Indian Market.

a. Globus

b. Pantaloon

c. Reliance

d. All of the above

Ans: D

Q19. It enables you to collect detailed data regarding products that customers purchase.

a. EDI

b. EDP

c. Bar Code Scanner

d. Quality Scanner

Ans:  C

Q20. ________ enable you to readily and efficiently handle credit and debit card transactions.

a. Electronic Payment Peripherals

b. Electronic Data Interchange

c. Bar Code Scanner

d. Both A and B

Ans: A

Q21. it stops junk e-mail in its tracks.

a. VPN

b. Firewall

c. Anti-virus

d. Anti-Spam

Ans: D

Q22. In the Retail industry, _______ assists in inventory control.

a. RFID

b. RFDI

c. REDF

d. DIFR

Ans: A

Q23. India is rated the ________ most attractive emerging market: a potential goldmine.

a. First

b. Fifth

c. Fourth

d. Sixth

Ans: B

Q24. India ranked _______ in a Global Mall Development Index of 30 developing countries drawn up by AT Kearney.

a. Seventh

b. Second

c. Third

d. Fifth

Ans: B

Q25. _________ is the global trade association of the shopping center industry.

a. ICSC

b. EPA

c. Waste Wise

d. JTR

Ans: A

Q26. It is designed to help you find out whether you are doing the right thing at your shopping centre in relation to the environment.

a. Environmental Checklist

b. Waste checklist

c. Cross list

d. Checklist

Ans: A

Q27. This organization collects used cartridges to raise money for a variety of charitable programs around the world.

a. Hewlett Packard

b. The Green Fund Network

c. Canon

d. Lexmark

Ans: B

Q28. State where the given statement is true or not:

‘Evaluate your competitive success by the ability to grow profits, not market share.’

a. False

b. True

c. Can’t say

d. Incomplete

Ans: B

Q29. Factors promoting globalization of operations-

a. Regulatory & economic reforms

b. Factor Cost Advantages

c. Expanding markets in developing countries

d. All of the above

Ans: D

Q30. _________ is the multiple mall for multiple candidates in case of Location Planning Methods.

a. Centroid Method

b. Transportation Model

c. Simulation Model

d. Gravity Method

Ans: B

Q31. Segment on the basis of profitability of choice:

a. Loyal to us

b. Loyal to a competitor

c. Switchables: loseable/winnable customers

d. All of the above

Ans: D

Q32. A well conceived and executed positioning associated with a brand name over time can build strong__________.

a. Equity

b. Brand Equity

c. Positioning

d. None of the above

Ans: B

Q33. Strategy to encourage the Mall to -

a.  Find new customers

b. Penetrate new areas

c. Both a and b

d. Understand Industry pricing

Ans: C

Q34. Is it true or not?

The SCM does not validate data during entry aside from certain data field formats (i.e. dates) and specific data fields that are dependent upon one another as determined by their use and definition.

a. True

b. False

c. Can’t say

d. Not clear

Ans: A

Q35. It involves designing an offering so that market segment buyers perceive it in a distinct and valued way relative to competition.

a. SCM

b. e-CRM

c. Positioning

d. Mall Management

Ans: C

Q36. Type of Quantitative Forecasts-

a. Time Series Analysis

b. Causal Relationships

c. Simulation

d. All of the above

Ans: D

Q37. Independent Demand is-

a. Can take an active role to influence demand

b. Can take a passive role and simply respond to demand

c. What a Mall can do to manage it?

d. All of the above

Ans: D

Q38. The Brick & Mortar Model of business continues to flourish in the form of:

a. Hyper marts

b. Entertainment Complexes

c. Trade Shows 

d. All of the above

Ans: D

Q39. Integrated communication tools are:

a. e-Mail

b. VoIP

c. Online Audio/Video Conferencing

d. All of the above

Ans: D

Q40. Services Capes:

a. Ambient Conditions

b. Spatial Layout and Functionality

c. Signs, symbols and Artifacts

d. All of the above

Ans: D

(2-Marks)

Q41. The fundamental components of TCO assessment are:

a. Procurement Costs

b. Implementation costs

c. Operational lifecycle management costs

d. All of the above

Ans: D

Q42. Implementation Costs include ________ and _________.

a. POS, Store system Solutions

b. LOT, SOP

c. TCO, POS

d. API, POS

Ans: A

Q43. The UNSPSC Management Organization gives:

a. Voting, Requesting privileges

b. Voting, Membership

c. Requesting privileges, Membership

d. None of the above

Ans: A

Q44. While deciding to implement a new technology, the major factors are _______ and user _______.

a. Adoptability, Adaptability

b. Scalability, Adaptability 

c. Technicality, Measurability

d. Measurability, Technicality

Ans: B

Q45. It is a system of technologies and processes that senses and responds to real-time demand across a network of customers, suppliers, and employees.

a. Demand driven Malls

b. Demand Driven Retailing

c. Supply Chain Management

d. Demand Driven Management

Ans: B

Q46. Many Indian Malls surveyed by KPMG have inventory turns levels between _______ & _______.

a. 5,12

b. 4, 18

c. 4, 10

d. 2, 9

Ans: C

Q47. The potential benefits derived by Malls implementing a Lead Time Optimization solution include:

a. Increase in full-price merchandise sales & subsequent revenues due to reduced stock-outs and markdowns

b. Cost savings from planned fulfillment versus ad hoc replenishment

c. Increased supply chain efficiency and responsiveness

d. All of the above

Ans: D

Q48. _____ & ______ have teamed up to form the America’s Marketplace Recycles.

a. ICSC, EPA

b. Resource Management, Waste Contracts

c. EPA, BSR

d. ICSC, BSR

Ans: A

Q49. The _________ and ________ will verify the sending and receiving, and use of, the electronic documents provided by the SCM.

a. Producer, Customer

b. Manufacturer, Consumer

c. Producer, Consumer

d. Manufacturer, Customer

Ans: D

Q50. CPFR uses a _______ and _______ approach to derive consensus forecasts.

a. Objective, Proactive

b. Cyclic, Iterative

c. Interactive, Objective

d. Planned, Targeted

Ans: B

Q51. Plant Location Methodology includes:

a. Transportation, Linear Programming

b. Transportation, Centroid

c. Centroid, Linear Programming

d. All of the above

Ans: B

Q52. Supply Chain Productivity is comprised of factors:

a. The net margin of a product in a store as the numerator

b. The invested capital, chiefly inventory, supporting that product in that store, as the denominator

c. Both a and b

d. None of the above

Ans: C

Q53. State true or false:

1. UNSPSC is a universal standard adopted for codification of all products handled within a Mall.

2. Coding products and services according to a standardized classification convention is necessary for streamlining commerce among companies.

a. 1-F, 2-T

b. 1-T, 2-F

c. 1-T, 2-T

d. 1-F, 2-F

Ans: C

Q54. ‘Wi-Fi’ stands for-

a. Wireless Communication

b. Wireless Fidelity

c. Wireless Flow

d. Wireless Factor

Ans: B

Q55. Match the following:

Common Identification Codes

1. Social Security Numbers

i. People

2. UCC/EAN(“bar”) codes


ii. Products

3. Duns Numbers



iii. Companies

a. 1-I, 2-iii, 3-ii

b. 1-ii, 2-I, 3-iii

c. 1-I, 2-ii, 3-iii

d. 1-iii, 2-ii, 3-I

Ans: C

Q56. Match the following:

1. Relevance


i. Timely information, Predictive value to the user

2. Reliability


ii. Valid information, Unbiased





iii. Verifiable





iv. Provides Feedback Value

a. 1-I, iv & 2-ii, iii

b. 1-I, ii & 2-iii, iv

c. 1-ii, iii & 2-I, iv

d. 1-ii, iv & 2-I, iii

Ans: A

Q57.  State true or false:

1. Ordering cost is the costs for arranging specific equipment set-ups, etc.

2. Holding cost is the costs for storage, handling, insurance etc.

a. 1-T, 2-T

b. 1-F, 2-T

c. 1-T, 2-F

d. 1-F, 2-F

Ans: B

Q58. Implementation costs is the cost of implementing the _______ and ______.

a. TCO, POS

b. POS, Store System Solutions

c. POS, Store systems

d. All of the above

Ans: B

Q59. Identification codes _______ & _______ were not designed to support product awareness, discovery, and spend analysis.

a. UGC, AEN

b. UCC, EAN

c. ESN, USC

d. EAN, UCD

Ans: B

Q60. State true or false:

1. Codes bring a single, uniform view of all expenditures in a company.

2. A common naming convention allows computer systems to automatically list similar products under a single category.

a. 1-T, 2-F

b. 1-T, 2-T

c. 1-F, 2-F

d. 1-F, 2-T

Ans: B

(4-Marks)

Q61. Match of the following:

1. SIC/NAICS

i. Limited or non-existent hierarchy

2. UCC/EAN


ii. Used by local government purchasing agencies

3. NIGP


iii. No item hierarchy, strictly used for identification

4. Internal/Proprietary
iv. Too high level for effective spend analysis

a. 1-I, 2-ii, 3-iii, 4-iv

b. 1-iv, 2-iii, 3-ii, 4-I

c. 1-I, 2-iv, 3-ii, 4-iii

d. 1-iv, 2-I, 3-ii, 4-iv

Ans: B

Q62. The hallmarks of marketing in the era of electronic commerce includes:

1. Sending electronic product catalogs to your customers, distributors and channel partners.

2. Registering your products in search engines and third-party electronic market places, product directories, and electronic trade magazines.

3. Advertising your products and company using “meta data” XML tags.

4. Preparing your Web site to interact with intelligent agents.

a. 1, 2, 4

b. 2, 3, 4

c. 1, 2, 3, 4

d. 1, 3,4 

Ans: C

Q63. Match the following:

1. Passive tags
i. Store data and draw power from a reader whose electro magnetic wave induces a current in the tag’s antenna for short-range communication.

2. Semi-Passive Tags
ii. Which incorporate a battery to run the chip’s circuitry, but draw power from the reader to communicate.

3. Active tags
iii. Which incorporate a battery, are programmable, actively transmit and receive data, and can communicate over greater distances.

a. 1-I, 2-ii, 3-iii

b. 1-ii, 2-I, 3-iii

c. 1-iii, 2-ii, 3-I

d. 1-ii, 2-iii, 3-I

Ans: A

Q64. Match the following:

1. Holding cost

i. Costs of canceling an order

2. Setup Cost

ii. Costs of someone placing an order

3. Ordering cost

iii. Costs for arranging specific equipment set-ups

4. Shortage costs

iv. Costs for storage, handling, insurance etc.

a. 1-I, 2-ii, 3-iii, 4-iv

b. 1-iv, 2-ii, 3-I, 4-iii

c. 1-iv, 2-iii, 3-ii, 4-I

d. 1-ii, 2-I, 3-iv, 4-iii

Ans: C

Q65. Identify the CPG IT Spending Priorities:

1. Enterprises Resource Planning

2. Enterprise Security

3. Radio Frequency Identification

4. Networking Solutions

5. Improving Supply Chain Collaboration

a. 1, 2, 4, 5

b. 2, 3, 4, 5

c. 1, 2, 3, 4

d. 1, 2, 3, 4, 5

Ans: C

Q66. Identify the issues in Mall location-

1. Proximity to Customers

2. Business Climate

3. Free Trade Zones

4. Environmental Regulations

5. Competitiveness

6. Quality of labor

7. Factor Cost

a. 1, 2, 3, 4,6

b. 1, 2, 3, 5, 6

c. 1, 2, 3, 4, 7

d. All of the above

Ans: A

Q67. Write the following steps in correct sequence:

1. Inventory replenishment

2. Join business planning

3. Sharing forecasts

4. Creation of a front-end partnership agreement

5. Development of demand forecasts

a. 1, 2, 3, 5, 4

b. 4, 2, 5, 3, 1

c. 2, 5, 1, 4, 3

d. 5 4, 2, 1,3

Ans: B

Q68. Select the components of demand-

1. Average demand for a period of time

2. Trend

3. Seasonal element

4. Cyclical elements

5. Random variation

6. Autocorrelation

a. 1, 2, 5, 6

b. 2, 3, 5, 6

c. 1, 2, 3, 5

d. 1, 2, 3, 4, 5, 6

Ans: D

Q69. Match the following:

1. Gateway anti-virus
i. Detects & eliminate viruses, worms and spy-ware in real time

2. Firewall
ii. It inspects content in network packets

3. VPN
iii. Enables secure communications tunnels across the public Internet

4. Anti-spam
iv. It stops junk e-mail in its tracks

a. 1-I, 2-ii, 3-iii, 4-iv

b. 1-iv, 2-iii, 3-ii, 4-I

c. 1-ii, 2-I, 3-iv, 4-iii

d. 1-ii, 2-iv, 3-I, 4-iii

Ans: B

Q70. Match the following:

1. Store connectivity

i. Supports employee training & productivity

2. Store mobility 


ii. Uses wireless technologies at the POS 

3. IP Communications

iii. Increase operating efficiency

4. Store as a medium
iv. Reduces mall costs through converging data & voice system.

a. 1-iii, 2-ii, 3-iv, 4-I

b. 1-iv, 2-iii, 3-ii, 4-I

c. 1-I, 2-ii, 3-iii, 4-iv

d. 1-ii, 2-I, 3-iii, 4-iv

Ans: A

Q71. Match the following:

1. Supply chain complexity
i. Stretching across boundaries leading to greater variance and complexity

2. Longer lead times


ii. Causing huge transit costs

3. Globalization
iii. Led to increased risks in the supply chain

4. Outsourcing
iv. Rely to meet their product needs

a. 1-ii, 2-iii, 3-I, 4-iv

b. 1-I, 2-ii, 3-iii, 4-iv

c. 1-iv, 2-iii, 3-I, 4-ii

d. 1-iv, 2-I, 3-iii, 4-ii

Ans: B

Q71. Identify the challenges of IT implementations in Malls:

1. Accurate merchandising

2. Improved mall management

3. Increasing profitability

4. Strengthening store operations

5. Improving the supply chain

6. Improved workforce management

a. 1, 2, 4, 5, 6

b. 2, 3, 4, 5

c. 1, 2, 3, 4, 5, 6

d. 1, 2, 4, 6

Ans: C

Q72. Match the following:

1. Furniture Retailers
i. Grooves

2. Music store

ii. Durian

3. Mall developers

iii. Crossroads

4. Pharmacy


iv. Subhiksha

a. 1-I, 2-ii, 3-iii, 4-iv

b. 1-ii, 2-I, 3-iii, 4-iv

c. 1-iv, 2-iii, 3-ii, 4-I

d. 1-iii, 2-ii, 3-iv, 4-I

Ans: B

Q73. Match the following:

1. Reschedule out

i. It is linked directly to some other demand

2. Reschedule in

ii. It lies outside the reschedule window

3. Increase quantity
iii. Quantity of replenishment order to meet the demand

4. Decreased quantity
iv. Current existing supply has surplus quantity

a. 1-I, 2-ii, 3-iii, 4-iv

b. 1-ii, 2-iv, 3-I, 4-iii

c. 1-iii, 2-I, 3-iv, 4-ii

d. 1-iv, 2-iii, 3-ii, 4-I

Ans: A

Q74. Match the following:

1. Plan or not


i. Reordering policy equal to blank

2. Reorder release

ii. Safety lead-time, safety stock quantity

3. Lot sizing


iii. Inventory field on the item/SKU

4. Extension


iv. Make-to-stock, Make-to-order

a. 1-I, 2-ii, 3-iii, 4-iv

b. 1-ii, 2-iv, 3-i, 4-iii

c. 1-iv, 2-iii, 3-ii, 4-I

d. 1-iii, 2-iv, 3-I, 4-ii

Ans: A

Q75. Match the following:

1. Reorder Cycle
i. An additional identifying factor for an item that uniquely identifies the item

2. Reservation
ii. Process of designating stock for a specific order or schedule

3. Transfer order
iii. An order to move items from one location to another

4. Variant
iv. Frequency with which the system checks if there is a need for an item to be replenished

a. 1-I, 2-ii, 3-iii, 4-iv

b. 1-iv, 2-iii, 3-ii, 4-I

c. 1-ii, 2-iv, 3-I, 4-iii

d. 1-iv, 2-I, 3-iii, 4-ii

Ans: B
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